):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXKXX XXX XXX XXX XXX KKK XXX XXX XX KX XXX X LXK K LXK LXK KKK KKK XXX XXX XKXXXKXXXXME/1-6800502-00001XX
LimitExercise0l for No.9844

X +x
Nol = f(x):W,a:O

| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
1 —cos(x)
No2=|f(x)=—"—"—""",a=0
X
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
x—25
No3=|f(x)=——="",a=25
Ax =35
| x 124.8000124.9000124.9900124.9990124.9999|.. |la = 25|...125.0001125.0010125.0100125.1000125.2000 |
X
No4 =| f(x) = ~a=0
l—-e
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
x-3
NoS=|f(x)=—"F—""""_,a=3
x —8x+15
| x | 2.8000| 2.9000] 2.9900] 2.9990| 2.9999|.. |la = 3|...|] 3.0001|] 3.0010| 3.0100| 3.1000| 3.2000]

No6=[a=-9,B=57y=8,5=9,¢=10]
D GER=ETe ISRV R D 9:9:9:9:0.0.0.0:9:9.:0.0.0.0.:0:9:0.0:0.0.0.:0.9:9.0:0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0.0:0:0.0.0.0.0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXXXX XXX XXX XXX XXX KKK XXX XXX XX XXX XXX LXK K LXK LXK KKK KKK XXX XXX XKXXXKXXXXME/1-6800502-00002XX
LimitExercise0l for No.9872

4 +x
Nol=|f(x)=—"",,a=4
-8 -2x+x
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4]...| 4.0001|] 4.0010| 4.0100|] 4.1000] 4.2000]
X
No2=| f(x) =17 ,a=0
i |+ x |
| x |-0.2000(/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O|...] 0.0001| 0.0010|] 0.0100| 0.1000|] 0.2000|
4-x
No3=|f(x)=——="",a=4
i Jx-2" ]

| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. |la = 4]...| 4.0001] 4.0010| 4.0100| 4.1000] 4.2000]

3¢ -3
No4d=|f(x)=—""a=0
X

| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-10,p=-9,y=-6,8=2,e=10]
DG R=ETe [SHEN V(N D 0:9:9:9:0.0.0.0:9:9.:0.0.0.0.:0:9:0.0.0.0.0.:0.9:9.0:0.0.0.0:9:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.:0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXX XX XXX XXX XXX XXX XXX XX XXX KKK EXX K LXK LXK KKK KKK XXX XXX X KXXXKXXXXME/1-6800502-00003XX
LimitExercise0l for No.9873

1 —cos(x)
Nol =|f(x)=—""—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
X +2x
No2=|f(x)=—77,a=0
x|
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
x+ x> =30
No3 = f(x)=—5 ,a=>5
| x | 4.8000| 4.9000] 4.9900] 4.9990| 4.9999|.. |la = 5|...] 5.0001|] 5.0010] 5.0100| 5.1000| 5.2000]

5¢ -5
No4=|f(x)=—""a=0
X

| x |-0.2000/-0.1000/-0.0100]-0.0010|-0.0001|.. Ja = Of|...] 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
6—/x
NoS=|f(x)=—"—",a=36
36 —x
| x [35.8000135.9000]135.9900135.9990135.9999|.. |a = 36|...136.0001]136.0010136.0100|36.1000(36.2000]

No6=[o=-12,p=-8,y=4,5=9,¢=12]
D GER=ETe ISR VVICH D 9:9:9:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0.0.0.0.0.9:9.0:0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.:0.0:¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXX XXX XXX XXX XXX KKK XXX XXX XX XXX KKK EXX K LXK LXK KKK KKK XXX XXX X KXXXKXXXXME/1-6800502-00004XX
LimitExercise0l for No.9884

x +3x

[10-3e]
Nol=|f(x)=—""",a=0

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
Jx -1
No2=|f(x)=—""a=1
-1+x
| x | 0.8000| 0.9000] 0.9900] 0.9990| 0.9999|.. |la = 1|...] 1.0001|] 1.0010] 1.0100| 1.1000| 1.2000]
X
No3=|f(x)=—""—""—"a=0
sin(x)
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
-2+x
Nod=|f{x)=—",,a=2
Sx+6+x
| x | 1.8000| 1.9000] 1.9900] 1.9990| 1.9999|.. |la = 2|...] 2.0001|] 2.0010] 2.0100| 2.1000| 2.2000]

1—¢
No5 =| f(x)= ,a=0
X
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-8,B=-1,y=2,0=7,e=8]
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXKKXXKXXKXKKXKKXXKKXXKKXKKXXKKXX KKK XXX KKK KKK KKK KX KKK KKK KKXK
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LimitExercise0l for No.9885
x—3
Nol=|f(x)=————,a=3
2x+x" -3

| x | 2.8000] 2.9000] 2.9900| 2.9990| 2.9999|.. Ja = 3|...] 3.0001| 3.0010|] 3.0100| 3.1000| 3.2000|
cos(x)—1
No2=|f(x)=—"—",a=0
X
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
4-x
No3=|f(x)=—""FT=,a=4
2 fx
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. Ja = 4|...] 4.0001| 4.0010|] 4.0100| 4.1000| 4.2000|

-3 e
No4 =| f(x) = ~a=0

J
| x |-0.2000|/-0.1000]-0.0100|-0.0010|-0.0001|.. Ja = O0]...] 0.0001| 0.0010| 0.0100] 0.1000| 0.2000]
X +2x
NoS=|f(x)=—77—a=0
x|
| x |[-0.2000|-0.1000]-0.0100|-0.0010|-0.0001|.. |Ja = 0O]...| 0.0001|] 0.0010| 0.0100] 0.1000| 0.2000]

No6=[a=-11,3=-10,y=-1,0=2,e=4]
X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXXKXXKXKKXKKXKKXKKXXKKXKKXXKKXX XXX XXX XXX KKK KKK KX KKK KKK KKK K
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LimitExercise(0l for No.9895

Nol :{f(x):%,a:4}
—4+x

| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. |la = 4]...| 4.0001|] 4.0010| 4.0100| 4.1000] 4.2000]

[ 2|x| }
No2=|f(x)=—""",a=0

X +2x
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
sin(x)
No3=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

-]
No4 =| f(x) = ~a=0

1—¢
| x |-0.2000/-0.1000]-0.0100|-0.0010|-0.0001).. Ja = 0O|...| 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
12-8x+x
NoS=|f(x)=——"""",a=6
-6 +x
| x | 5.8000] 5.9000| 5.9900| 5.9990] 5.9999|.. |la= ©6]...] 6.0001] ©6.0010] 6.0100| ©.1000] 6.2000]

No6=[a=-1,=3,y=5,0=6,£=9]
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXKKXK KX KKK XXX XXX XXX XXX KKK XXX XXX KKK KKK KX KKK KKK KKK K
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LimitExerciseOl for No.9899

Nol ={f(x) :%, a= 0}

| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
x—16
No2=|f(x)=—""F=a=16
4-4fx
| x |15.8000015.9000(15.9900115.9990115.9999|.. |a = 16|...]16.0001116.0010/16.0100116.1000/16.2000 |
x-3
No3 =|f(x)= 5 ,a=3
-10x +x" + 21
| x | 2.8000| 2.9000] 2.9900] 2.9990| 2.9999|.. |la = 3|...|] 3.0001|] 3.0010| 3.0100| 3.1000| 3.2000]
X
No4 =| f(x) = ~a=0
l—-e
| x |-0.2000/-0.1000/-0.0100]-0.0010|-0.0001|.. Ja = Of|...] 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]

Eertil]
No5=|f(x)=—"""7"—,a=0

x +3x
| x |-0.2000]-0.1000|1-0.0100|-0.0010]-0.00012].. |Ja = O0}J...] 0.0001] 0.0010] 0.0100| 0.1000] 0.2000]

No6=[a=-12,B=-6,y=2,8=6,c=7]
D QER=ETe [SHE NV D 0:9:9.:9:0.0.0.0:9:9.:0.0.0.0.0.9:0.0.0.0.0.:0.9:9.9:0.0.0.0:9:0.0.0.0.9:0.9:0.0.0.0.0.0.9:0.9.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXXXX XXX XXX XXX XXX KKK XXX XXX XX XXX KKK EXX K LXK LXK LXK XXX XXX XXX X KXXXKXXXXME/1-6800502-00008XX
LimitExercise0l for No.9920

1 —cos(x)
Nol=|f(x)=—""",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
-2+x
No2=\f(x)=—"",,a=2
Sx—14+x
| x | 1.8000| 1.9000] 1.9900] 1.9990| 1.9999|.. |la = 2|...] 2.0001|] 2.0010] 2.0100| 2.1000| 2.2000]
2x
No3=|f(x)=7—""_"1,a=0
|x +2x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
64 — x
No4d=|f(x)=—"F=a=064
8 —/x
| x |63.8000/63.9000]163.9900163.9990163.9999|.. |a = 64]...]164.0001]164.0010164.0100/164.1000|64.2000]

e -1
N05=[f(x): ,azO}
X

| x [-0.2000(/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O|...] 0.0001| 0.0010|] 0.0100| 0.1000| 0.2000|

No6=[a=-11,p=-9,y=-3,8=-2,£=7]
DRI ISRV D 0:9:9:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0.0.0.0.0.9:9.0:0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0.0:0:0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXXX XXX XXX KKK XXX XXX XXX X XXX KX LXK K LXK LXK X KKK XXX XXX XXX X KXXXKXXXXME/1-6800502-00009XX
LimitExercise(0l for No.10000

2€¢ -2
Nol =|f(x)=—"—a=0
X

| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
x—36
No2=|f(x)=—7="",a=36
Ax—6
| x |35.8000135.9000]135.9900135.9990135.9999|.. |a = 36|...]136.0001]136.0010136.0100/36.1000(36.2000]
X +2x
No3=|f(x)=—77—a=0
x|
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
X
No4=|f(x)=—""a=0
sin(x)
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
—-6+x
NoS=|f(x)=—""7,a=6
6-7x+x
| x | 5.8000| 5.9000] 5.9900] 5.9990| 5.9999|.. |la = 6]|...] 6.0001] 6.0010] 6.0100| 6.1000| 6.2000]

No6=[a=-6,=-1,y=0,0="7,e=11]
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXK KX KKK XXX KKXKKXXKKX KKK XXX XXX XXX KKK KX KKK KKK KKXK



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXXKXX XXX XXX XXX XXX KKK XXX XXX XX XX XXX X EXX K LXK LXK X KKK KKK XXX XXX XXXKKXXKXXME/1-6800502-00010XX
LimitExercise(0l for No.10017

2x+x-15
Nol =|f(x)=—""—"—""",a=5
x—5
| x | 4.8000] 4.9000] 4.9900| 4.9990| 4.9999|.. Ja= 5|...] 5.0001| 5.0010| 5.0100| 5.1000| 5.2000]
¥ +3x

No2 = f(x):|—|,a=O
L X

| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
5¢ -5
No3=|f(x)=—""—a=0
L X _
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
2 fx
Nod=|f(x)=—""",a=4
4-x
| x | 3.8000| 3.9000] 3.9900] 3.9990| 3.9999|.. |la = 4|...] 4.0001|] 4.0010| 4.0100| 4.1000| 4.2000]
sin(x)
NoS=|f(x)=—"""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-2,=-1,y=0,0=5,e=11]
X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXKKXKKXKKXKKXXXKXKKXXKKXX KKK XXX XXX KKK KKK KX KKK KKK KKKK



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
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LimitExercise(0l for No.10025

4 +x
Nol{f(x):—z,a:@
8—6x+x

| x | 3.8000| 3.9000] 3.9900] 3.9990| 3.9999|.. |la = 4|...] 4.0001|] 4.0010| 4.0100| 4.1000| 4.2000]
3x
No2=|f(x)=—""1,a=0
|x+x
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
No3=|f(x)=—"—"",a=0
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001|.. la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
64 — x
No4d=|f(x)=—"F=a=064
8 —/x
| x |63.8000/63.9000]163.9900163.9990163.9999|.. |a = 64]...]164.0001]164.0010164.0100/164.1000|64.2000]
4 x
No5=|f(x)=—""",a=0
e —1
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[o=-11,p=1,y=3,6=9,6=10]
DRI IS VO N RN D 0:9:9:9:0.0.0.0:9:9.:0.0.0.0.:0:9:0.0.0.0.0.:0.9:9.0.0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.9.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.:0.0:¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXXXXXXX XX XXX XXX KKK XXX XXX XX XXX XXX LXK K LXK LXK LXK XXX XX XXX EXXXKXXXKXXXXME/1-6800502-00012XX
LimitExercise(0l for No.10057

—2+x
Nol=|f(x)="",,a=2
14-9x+x
| x | 1.8000| 1.9000] 1.9900] 1.9990| 1.9999|.. |la = 2|...] 2.0001|] 2.0010] 2.0100| 2.1000| 2.2000]
2¢ -2
No2=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
49 —x
No3 =|f(x)=—="",a=49
Ax =17
| x [48.8000[148.9000148.9900148.9990148.9999|.. Ja = 49|...149.0001149.0010149.0100149.1000(149.2000/|
X +2x
No4 =| f(x) = ,a=
x|
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
X
NoS=|f(x)=—""—""—"a=0
sin(x)
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-9,=-4,7y=-2,0=4,e=10]
P ER-EIS ISR NN I 016:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0¢



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXKXXKKXXKMG6/1-6800502-00013XX

LimitExercise(0l for No.10061
2-3x+x
Nol =|f(x)=—"",a=2
2+Xx

| x | 1.8000| 1.9000] 1.9900] 1.9990| 1.9999|.. |la = 2|...] 2.0001|] 2.0010] 2.0100| 2.1000| 2.2000]
X +3x
No2=|f(x)=—7 7 ,a=0
x|
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
9—-x
No3=|f(x)=—""FT=a=9
3-4fx
| x | 8.8000| 8.9000|] 8.9900| 8.9990] 8.9999|.. Ja = 9|...] 9.0001| 9.0010|] 9.0100| 9.1000| 9.2000|

-]
No4 =| f(x) = ~a=0

l-e
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
1 —cos(x)
NoS=|f(x)=—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-11,p=-8,y=-2,8=3,e=10]
DRI ISRV VN ECH D' 9:9:9:9:0.0.0.0:9:9.:9.0.0.0.0.9:0.0.0.0.0.:0.9:9.0:0.0.0.0:9:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.9.0.0.0:0.9:0.0.0.0.0:0:0:0:0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XX XXX XXX LXK K LXK LXK LXK XXX XX XX XXX XKXXXKXXXXME/1-6800502-00014XX
LimitExercise(0l for No.10071

Ablz{ﬂxﬁfiéizya:4}
—4+x

| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |a = 4|...| 4.0001|] 4.0010| 4.0100] 4.1000| 4.2000]
—6+x
No2 = ﬂx):———————zya:6
—-6-5x+x
| x | 5.8000] 5.9000] 5.9900] 5.9990| 5.9999|.. |la= 6|...|] 6.0001| 6.0010| 6.0100| ©6.1000| ©.2000|

et
No3=|f(x)=—"F""a=0

X +x
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
1 —cos(x)
No4=|f(x)=—""",a=0
X
| x |-0.2000/-0.1000/-0.0100]-0.0010|-0.0001|.. Ja = Of|...] 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]

No5 =| f(x)= ,a=0
l1—¢
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
No6=[a=-1,=0,y=3,6=5,e=10]
S QN REY CEE R R BN 0:610:0:0:0:0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.:0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.:0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0:0.0.0.0.0.:0.0:0.0:0.0.0.4



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XX XXX KKK XXX KKK XXX XXX XXX KKK XXX XXKXXKKXXKXMO6/1-6800502-00015XX

LimitExercise(0l for No.10088
T—4/x
Nol :{f(x):—[,a:49}
49 — x

| x 148.8000148.9000148.9900148.9990148.9999|.. |a = 49]...149.0001149.0010149.0100149.1000149.2000|

{ 1 —cos(x) }
No2 = f(x):?, a=0

| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001).. Ja = 0O|...| 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
x—95
No3 = f(x):—z,a:5
2x+x —-15
| x | 4.8000] 4.9000] 4.9900] 4.9990| 4.9999|.. Ja= 5|...] 5.0001| 5.0010| 5.0100| 5.1000| 5.2000]

7e -7
No4d=|f(x)=—""a=0
X

| x |-0.2000/-0.1000/-0.0100]-0.0010|-0.0001|.. Ja = Of|...] 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
3x
No5=| f(x)=r—""1,a=0
|x +x
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[o=-8,B=-3,y=2,86=10,e=11]
DRI [SHE NN ICY D 0:9:9:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0.0.0.0.0.9:9.9:0.0.0.0:0:0.0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.0:0:9:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXXKXXXXXX XX XXX XXX KKK XXX XXX XX XX XXX X EXX K LXK LXK X KKK XXX XXX XXX XXX XKXXXXME/1-6800502-0001 6XX
LimitExercise(0l for No.10385

1 —cos(x)
Nol =|f(x)=—""—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
9]x|
No2=| f(x) =] ,a=0
L X +3x J
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
6-6¢
No3 = ﬂx):——;f—yazo
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
2 ofx
Nod=|f(x)=—"",a=4
4 +x
| x | 3.8000| 3.9000] 3.9900] 3.9990| 3.9999|.. |la = 4|...] 4.0001|] 4.0010| 4.0100| 4.1000| 4.2000]
-1+x
NoS=|f(x)=—"""7,a=1
4x—-5+x
| x | 0.8000| 0.9000] 0.9900| 0.9990] 0.9999|.. Ja = 1|...] 1.0001| 1.0010|] 1.0100| 1.1000| 1.2000|

No6=[a=-2,=0,y=2,0=3,e=7]
X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXKKXKKXXKKXXKKXKKXXKKXX KKK XXX XXX KKK KKK KKK KKK KX KKKK



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXKXX XXX XXX XXX XXX XXX KKK KX KX XXX XXX X KKK EXX KX LXK X LXK XXX XXX XXX XKXXKKXXXXME/1-6800502-00017XX
LimitExercise(0l for No.10387

6-6¢
Nol =|f(x)=—"—a=0
X

| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
No2=|f(x)=—"",a=0
X
| x [-0.2000/-0.1000]-0.0100]-0.0010[-0.0001|.. |a = Of...| 0.0001] 0.0010] 0.0100| 0.1000| 0.2000]

8- 2x+x
No3 = f(x):4—,a:4
+ X

| x | 3.8000| 3.9000|] 3.9900| 3.9990| 3.9999|.. |la = 4]...| 4.0001] 4.0010| 4.0100| 4.1000] 4.2000]

X +x
No4 = f(x)=|T|,a=0

| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
x—49
No5S=|f(x)=—="",a=49
A x =7
| x [48.8000[148.9000148.9900148.9990148.9999|.. Ja = 49|...149.0001149.0010149.0100149.1000(149.2000/|

No6=[a=-11,p=0,y=1,8=3,6=9]
DRI ISV VN A D 0:9:9.:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0:0.0.0.0.9:9.0:0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.9.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
D ERVERHNCIVIIENED $:0.0:0.0.0:0:0.0:0:0.0.9:0.0.9:0.0.0:0.0.0:0.0.0.0.0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0.0.0.0.0:0.0.0:0.0.0:0.0.0.0.0.0.:0.0.0.0.0.0.9.0.0.0:0.0.:0:0.0:0:0 ¢ U YA EX X1 e [ O Y e 2 e I [ N KD 0:¢
LimitExercise(0l for No.10914

4-4¢
Nol =|f(x)=—"—a=0
X

| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
3-4/x
No2=|f(x)=—"a=9

9—-x

| x | 8.8000| 8.9000] 8.9900] 8.9990| 8.9999|.. |la = 9|...] 9.0001|] 9.0010] 9.0100| 9.1000| 9.2000]
X +2x-35
No3=|f(x)=—"—"—"",a=5

x—=35

| x | 4.8000| 4.9000| 4.9900] 4.9990| 4.9999|.. |la = 5|...] 5.0001] 5.0010| 5.0100| 5.1000| 5.2000]

[ 2|x| }
Nod=|f(x)=—""",a=0

X +2x
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=0,B=1,y=3,0=4,e=5]
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXK KX KKK XXX KKXKKXXKKXX KKK XXX XXX KKK KX KKX KKK KKK KKXK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX XXKXXKKXXKXMO6/1-6800502-00019XX

LimitExercise0l for No.10945
x+x—12
Nol =| flx)="—""—"a=3

x_
| x | 2.8000| 2.9000] 2.9900] 2.9990| 2.9999|.. |la = 3|...|] 3.0001|] 3.0010| 3.0100| 3.1000| 3.2000]
-1 +x
No2=|f(x)=——=",a=1
Jx -1
| x | 0.8000| 0.9000] 0.9900] 0.9990| 0.9999|.. |la = 1|...] 1.0001|] 1.0010] 1.0100| 1.1000| 1.2000]
6-6¢"
No3=|f(x)=—""—a=0
X
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
Nod=|f(x)=—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
X +3x
NoS=|f(x)=—77—a=0
x|
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-12,B=-3,y=-2,8=2,6=9]
DG R=ETe [SHE NV ONEC N D 0:9:9:9:0.0.0.0:9:9.:9.0.0.0.:0:9:0.0.0.0.0.0.9:9.0:0.0.0.0:0:0.0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0.9:0.0.0.0.0:0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0:0:0:0.9.0.0.0:0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXX XXX XXX KKK XXX XXX XX XX XXX X LXK K LXK LXK KKK KKK XXX XXX XXX XKXXXXME/1-6800502-00020XX
LimitExercise(0l for No.10954

1 —cos(x)
Nol =|f(x)=—""—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
-1 +x
No2=|f(x)=—="",a=1
Jx -1
| x | 0.8000| 0.9000] 0.9900] 0.9990| 0.9999|.. |la = 1|...] 1.0001|] 1.0010| 1.0100| 1.1000| 1.2000]
5¢ -5
No3=|f(x)=—""—a=0
L X J
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
6|x|
Nod=|f(x)=—"F""—a=0
L X +3x J
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
X —8x+15
NoS=|f(x)=—"——"",a=3
x-3
| x | 2.8000] 2.9000] 2.9900| 2.9990| 2.9999|.. Ja = 3|...] 3.0001| 3.0010|] 3.0100| 3.1000| 3.2000|

No6=[a=-11,=-3,y=1,8=11,e=12]
P ER-EIS ISR NN 0:6:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.:0.0¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
D ERVERHNCIVIIENED’$:0.0:0.0.0:0:0.0:0:0.0.9:0.0.9:0.0.0:0.0.0:0.0.0.0.0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0.0.0.0.0:0.0.0:0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.9.0.0.0:0.0:0:0.0.0:0 ¢ U YA EX X1 [ ST L e [ [ 0 12 D 0¢
LimitExercise0l for No.10966

X
Ab]z{ﬂx):—f——ya:O}
sin(x)
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

7e -7
No2=|f(x)=—""a=0
X

| x |-0.2000/-0.1000/-0.0100]-0.0010|-0.00012|.. Ja = Of|...] 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
—1+x
No3=|f(x)=—"7,a=1
2-3x+x
| x | 0.8000| 0.9000] 0.9900] 0.9990| 0.9999|.. |la = 1]...] 1.0001|] 1.0010J 1.0100| 1.1000| 1.2000]
64 —x
No4d=|f(x)=—"F=a=064
8 —/x
| x 163.8000[63.9000/63.9900163.9990163.9999|.. |a = 64|...]164.0001164.0010/64.0100|64.1000|64.2000
X +2x
NoS=|f(x)=—77—a=0
x|
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-8,B=-=2,y=1,8=7,¢=10]
DG R=ETe ISRV N N D 0:9:9.:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0:0.0.0.:0.9:9.0:0.0.0.0:9:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0.0.0.0.0.0:9:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXKXXKKXXKMO6/1-6800502-00022XX

LimitExercise(0l for No.11154
—6+x
Nol=|f(x)=———"—",a=6

9
12 —4x+x
| x | 5.8000] 5.9000| 5.9900| 5.9990] 5.9999|.. |la= ©6]...] 6.0001] 6.0010] 6.0100| ©6.1000] 6.2000]

5-5¢"
No2=| f(x)=——,a=0
X

| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
X
No3 =|f(x)=—""a=0
sin(x)
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
A x —6
Nod=|f(x)=—"—",a=36
x—36
| x |35.8000135.9000]135.9900135.9990135.9999|.. |a = 36|...]136.0001]136.0010136.0100/36.1000(36.2000]
X +3x
NoS=|f(x)=—77—a=0
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-6,=-4,y=-3,0=T7,e=11]
X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXKKXXKXXKXKKXKKXXKKXXKKXKKXXKKX KKK XXX KKK KKK KKK KX KKK KKK KKKK



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXKXX XXX XXX XXX XXX KKK KKK XXX XX XXX KKK EXX K LXK LXK LXK XXX XXX XXX XXXXKXXKXXME/1-6800502-00023XX
LimitExercise(0l for No.11191

Nol ={f(x) :%, a= 0}

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
Ax —4
No2=|f(x)=—"a=16
16 —
| x |15.8000/15.9000]115.9900115.9990115.9999|.. |a = 16]...]16.0001]116.0010116.0100/16.1000(16.2000]
—6—5x+x
No3=|f(x)=—"",a=
—-6+x
| x | 5.8000] 5.9000] 5.9900| 5.9990] 5.9999|.. Ja = 6|...] 6.0001| 6.0010] 6.0100| 6.1000| 6.2000|
2-2¢
No4d=|f(x)=—""a=0
L X _
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
X +3x

No5 = f(x)zT,azo

| x [-0.2000(/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O|...] 0.0001| 0.0010|] 0.0100| 0.1000| 0.2000|

No6=[a=-12,p=-6,y=-3,8=-1,6=5]
DG R=ETe ISR VVZICH D 0:9:9:9:0.0.0.0:9:9.:0.0.0.0.0.9:0.0:0.0.0.0.9:9.9:0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.9.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0.0:0.0.:0.0:¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX XXX XXX X KKK KKK XXX XXX XXX X LXK K LXK LXK KX KKK XX XX XXX XXXXKXXXXME/1-6800502-00024XX
LimitExercise0l for No.11309

X
No]:{f(x)z . 1,azO}

| x |-0.2000/-0.1000|-0.0100]-0.0010]-0.00011.. |la = O] .] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

x—4

No2=|f(x)=—"",a=16
x—16
| x |15.8000/15.9000]15.9900115.9990115.9999|.. |a = 16]...]16.0001]16.0010116.0100/16.1000(16.2000]
1 —cos(x)
No3=|f(x)=—"——"",a=0
X
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
x|
Nod=|f(x)=—"""",a=0

X" +x

| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
12-8x+x°
NoS=|f(x)=—""""a=2

-2+x

| x | 1.8000| 1.9000] 1.9900] 1.9990| 1.9999|.. |la = 2|...] 2.0001|] 2.0010] 2.0100| 2.1000| 2.2000]

No6=[o=4,B=6,y=8,8=9,c=12]
D QRIS V 2 Y I 0:9:9.:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0.0.0.0.0.9:9.0.0.0.0.0:9:0.0.0.0.9:0.9:0.0.0.0.0.0.9:0.9.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.:0.0.0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXKXXKKXXKMG6/1-6800502-00025XX

LimitExercise(0l for No.12483
—6-5x+x
Nol =|f(x)=——""—"—,a=6

—6+x
| x | 5.8000| 5.9000] 5.9900| 5.9990| 5.9999|.. |la= 6]...| 6.0001|] 6.0010| 6.0100] 6.1000| 6.2000]
X
No2=|f(x)=—""a=0
sin(x)
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001).. Ja = 0O|...| 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]

x’

=)
No3 =| f(x)= a=0

l-e
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001|.. la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
x—16
No4=|f(x)=——=",a=16
Ax —4
| x |15.8000015.9000115.9900115.9990115.9999|.. |a = 16|...]16.0001116.0010/16.0100116.1000/16.2000 |
X +3x
NoS=|f(x)=—77—a=0
x|
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-12,p=-10,y=0,8=10,e=11]
DG RETe [SHE VN D 0:9:9.9:0.0.0.0:9:9.0.0.0.0.0.9:0.0.0.0.0.0.9:9.9:0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0.0:0.0.0.0.9:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXXKXXXXXXXX XXX XXX KKK XXX XXX XXX X XXX X LXK K LXK KX LXK X KX KKK XXX XXX XXX XKXXXXME/1-6800502-00026XX
LimitExercise(0l for No.12557

_ i -
Nol =| f(x)= ,a=0
| x |-0.2000/-0.1000]-0.0100]-0.0010(-0.0001|.. Ja = O0O|...] 0.0001] 0.0010] .0100] .1000] .2000]
2]«]
No2=| f(x) =] ,a=0
L X +2x ]
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
X
No3 =|f(x)=—""a=0
sin(x)
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
x-5
No4 =| f(x)= 5 ,a=>5
—12x+x"+35
| x | 4.8000| 4.9000] 4.9900] 4.9990| 4.9999|.. |la = 5|...] 5.0001|] 5.0010| 5.0100| 5.1000| 5.2000]
Jx -2
NoS=|f(x)=—"a=4
4 +x
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. Ja = 4|...] 4.0001| 4.0010|] 4.0100| 4.1000| 4.2000|
No6=[a=-12,=-10,y=-4,06=3,e=12]
IILIFID 0'00:0:0:0:0:0:0:0:0:0:00:0:010:0:0:0:0.0:0.0.0.0.0:0.0.:0:0:0.0:0.0.0:0.0:0.0:0.0.:0.0.0.0.0.0.0:0:0:0:0:0.0:00.0:0.0.0:0:0:0.:0:0.0:0.0:0.0.0.0.0.0:0:0.0:0.0:0.0.0:0'0.0:0:0.0:0:0.0.0.0:0:0:0:0'¢

X [Page =
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XKX XXX XXX XXX XXX XXX XXX KKK XXX XXKXXKKXXKMO6/1-6800502-00027XX

LimitExercise(0l for No.12637
Nol {f() )X 9}
ol = X :—,a:
Jx =3

| x | 8.8000| 8.9000|] 8.9900| 8.9990| 8.9999|.. |a = 9]...] 9.0001] 9.0010| 9.0100|] 9.1000] 9.2000|

-]
No2=|f(x)=—""",a=0

x +3x
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001).. Ja = 0O|...| 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]

1= 2|
No3=|f(x)=—""",a=0

e —1

| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
42 -13x+x"
Nod=|f(x)=—"—""",a=6

—-6+x

| x | 5.8000| 5.9000| 5.9900] 5.9990| 5.9999|.. |la = 6|...] 6.0001|] 6.0010| 6.0100| 6.1000| 6.2000]
X
NoS=|f(x)=—""—""—"a=0

sin(x)

| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-9,=0,y=2,0=5,e=8]
X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXKKXK KX KKK KKK KKXKKXX KKK XXX XXX XXX KKK KKK KX KKK KKK KKK K
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LimitExercise0l for No.12689

Nol :{f(x):%,a:9}
-9 +x

| x | 8.8000| 8.9000|] 8.9900| 8.9990| 8.9999|.. |a = 9]...] 9.0001] 9.0010| 9.0100|] 9.1000] 9.2000|

-]
No2=|f(x)="",a=0

e —1
| x |-0.2000/-0.1000/-0.0100]-0.0010|-0.0001|.. Ja = Of...] 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
X +3x
No3=|f(x)=—77—a=0
x|
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. la = Of|...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
Nod=|f(x)=—""",a=0
X
| x |-0.2000/-0.1000/-0.0100]-0.0010|-0.0001|.. Ja = Of|...] 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
-7T+x
No5=|f(x)=—"—""7,a=7
—49 +x
| x | 6.8000| 6.9000] 6.9900] 6.9990| ©6.9999|.. |la = T7|...|] 7.0001|] 7.0010| 7.0100| 7.1000| 7.2000]

No6=[a=-11,p=-9,y=-1,8=2,6=7]
DRI [SHE NS SN D 0:9:9.:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0.0.0.0.0.9:9.0:0.0.0.0:9:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0.0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXXX XXX XXX KKK XXX KX XXX KKK XXX X XKXXKKXXKMO6/1-6800502-00029XX

LimitExercise0l for No.13349
X +3x
Nol = f(x)zW,azo
X

| x [-0.2000(/-0.1000/-0.0100|-0.0010|-0.0001|.. Ja = O|...] 0.0001| 0.0010|] 0.0100| 0.1000| 0.2000|

~16 +x°
No2 = f(x)zT,a=4
X

| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |a = 4]...| 4.0001|] 4.0010| 4.0100| 4.1000] 4.2000|

x -2
No3=|f(x)=—"""a=4
4-x
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. Ja = 4|...] 4.0001| 4.0010|] 4.0100| 4.1000| 4.2000|

6-6¢
No4d=|f(x)=—""a=0
X

| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
sin(x)
NoS=|f(x)=—"""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-9,B=-1,y=4,8=6,£=10]
DG R=ETe ISRV D 9:9:9:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0.0.0.0.0.9:9.0:0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.0.0:¢
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LimitExercise0l for No.13519

Nol =[f(x)=ﬁ—;,a=25}
¥ —

| x [24.8000124.9000124.9900124.9990124.9999|.. |a = 25]...125.0001125.0010125.0100125.1000(25.2000]
x-3
No2=|f(x)=—""""_,a=3
X +4x-21
| x | 2.8000| 2.9000] 2.9900] 2.9990| 2.9999|.. |la = 3|...] 3.0001|] 3.0010| 3.0100| 3.1000| 3.2000]
cos(x)—1
No3=|f(x)=—"—"""",a=0
X
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

10 e0]
Nod=|f(x)=—"F""—a=0

x +3x
| x |-0.2000/-0.1000]-0.0100|-0.0010|-0.0001).. Ja = 0O|...| 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]

No5 =| f(x)= ,a=0
l1-¢'
| x |[-0.2000|-0.1000]-0.0100|-0.0010|-0.0001|.. |Ja = 0O]...| 0.0001|] 0.0010| 0.0100] 0.1000| 0.2000]
No6=[a=-9,=-8,y=3,0=4,e=5]
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LimitExerciseOl for No.14276
Nol {f() Loy 1}
ol = X :—,a:
T

| x | 0.8000| 0.9000] 0.9900] 0.9990| 0.9999|.. |la = 1]...] 1.0001|] 1.0010| 1.0100| 1.1000| 1.2000]
2]«]
No2=|f(x)=—""",a=0

X +x
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

—-6+x

No3 =|f(x)= 5,a=6
—-11x+30+x
| x | 5.8000| 5.9000] 5.9900] 5.9990| 5.9999|.. |la = 6]|...] 6.0001] 6.0010] 6.0100| 6.1000| 6.2000]
1 —cos(x)
Nod=|f(x)=—""—""",a=0
X

| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

3-3¢
NoS=|f(x)=—""—a=0
X
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-12,p=-9,y=-2,8=3,6=6]
D GER=ETe ISRV R D' 9:9:9:9:0.0.0.0:9:9.:0.0.0.0.0:9:0.0:0.0.0.0.9:9.0:0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0:0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0.0:0.0.:0.0:¢
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LimitExercise(0l for No.14380

X
Nol :[f(x):—, a:O}

|x2+x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
7x
No2=|f(x)=—""",a=0
e —1
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
No3=|f(x)=—"—"",a=0
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |a = O]...] 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]
2 ofx
Nod=|f(x)=—""",a=4
4-x
| x | 3.8000| 3.9000] 3.9900] 3.9990| 3.9999|.. |la = 4|...] 4.0001|] 4.0010| 4.0100| 4.1000| 4.2000]
~36 +x°
NoS=|f(x)=—"—"",a=6
—-6+x
| x | 5.8000] 5.9000] 5.9900| 5.9990] 5.9999|.. Ja = 6|...] 6.0001| 6.0010] 6.0100| 6.1000|] 6.2000|

No6=[a=-4,B=87=9,5=10,c=12]
DG R=ETe [SHE VNS VA D 0:9:9.:9:0.0.0.0:9:9.:0.0.0.0.0.9:0.0.0.0.0.0.9:9.0.0.0.0.0:0:0.0.0.0.9:0.9:0.0.0.0.0.0:9:0.0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0.0.9:0.0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0:0.0.:0.0:¢
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LimitExercise(0l for No.14393

1 —cos(x)
Nol=|f(x)=—""",a=0
X
| x [-0.2000[-0.1000(-0.0100]-0.0010{-0.0001].. |a = Of...| 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
Sx
No2=|f(x)=—""",a=0
e —1
| x |-0.2000/-0.1000/-0.0100]-0.0010|-0.00012|.. Ja = Of|...] 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]
28 -3x+x
No3=|f(x)=—""—""—"—",a=17
-7T+x
| x | 6.8000| 6.9000] 6.9900] 6.9990| ©6.9999|.. |la = 7|...|] 7.0001|] 7.0010| 7.0100| 7.1000| 7.2000]
x—36
No4=|f(x)=—""F=,a=36
6—/x
| x |35.8000135.9000135.9900135.9990135.9999|.. |a = 36|...]136.0001136.0010136.0100136.1000|36.2000

2
X +x
Ab5:{ﬂx)=———ja=0}
x|
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.0001f.. |la = Of|...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

No6=[a=-9,=0,y=3,0=6,e=7]
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